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Attempt any five questions.

st dfa gvr @ I Aferv

1. (a) What is macroeconomics ? Explain major

macroeconomic issues. (2,6)

(b) Discuss the expenditure method of measuring (

national income. (7)
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2. Distinguish between actual and potential GDP. Use
the difference to explain inflationary and deflationary
gaps. (5,10)
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3. (a) Illustrate the concept of multiplier. Discuss the
leakages that occur in the operation of multiplier

in an economy. (3,6)

5516 : 5

s faftr =1y @ §e e fF arftsa d@ fa
THR A T GOl Fd 8 ¢ aftred dol A o ee
Ft T G B 7

What are the components of Balance of Payment ?
Why is Balance of Payment important for a

country ? B (10,5)
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Write short notes on any two of the following :
(i) Liquidity trap
(ii) Functions of money
(iii) Operating surplus
(iv) LM curve : (7.5,7.5)
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(@) Ffofaa sl @ 3@ & arg =R = T SR -

C = 150 + 0.75(Y-T)
I =Rs. 100 T =
G = Rs. 150 ¥ ®

T = Rs. 200 05 =

5. (a) What is aggregate demand ? Show the derivation

of aggregate demand curve. (2,4)

(b) Explain how the positive slope of short run
aggregate supply curve affects the price level and
real GDP. (9)
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6. Using ratio approach, explain as to how commercial
banks create credit. What are the limits of credit

creation power of commercial banks ? (9,6)
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(b) Explain the relationship between MPC and

multiplier. Calculate the value of multiplier when
MPC is equal to 0.9,0.8 and 0.5. (3,3)
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4. (a) What is net export function ? Explain the factors
that cause a shift in the net export function.  (8)

(b) Calculate equilibrium level of income from the

following data :

C =150 + 0.75(Y-T)
I = Rs. 100 crore

G = Rs. 150 crore

T = Rs. 200 crore (N
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